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Time:20 Min. |Objective Type | Marks : 15

Note: Four possible answers A, B, C and D to eachf
question are given. The choice which youy
think is correct, fill that circle in front of that
question with Marker or Pen ink i
answer-book. Cutting or filling twi

circles will result in zero
quesnon

C

It -5- =-—d-, then componen ' roperty. ,
C ~a O\ o
(A) _ - .3
2 + b C+d | ¢=d
"
5 r
E Pomt ("'1 4) the quadrant:
eI
oy 1
T solution set of equation 4x2 - 16:=0is:
x@ t4| - (B) {4}
) 1£2) (D) {2}
El The mode in the data 1,3,5,3,7,9'is:
(A) 1 (B) 3
(C)5 (D) 7

B sec9= - st
(A) 1-sin?0 (B) 1+tan?0



(D) 1 tan2o

The somi cir . - '
circle both ml(t;:g:::jr::':f:;t?:|dathe| d'?meter 78
(A) D0 (B) 180 e s
(C) 270° (D) 360°
ﬂ A complete circle s divided into
(A) 90° (B) 180°
(C) 270 (D) 360°
u 8IN70 + cos?() — — . _ _ __
(A) sin0 (B) cos6
(C) 1 (D) 2
f ==L =Kk . then
vV W
(A) u = wk?
(C) u=wk

[ Two tangents drayl;nj\bj;a\ circle from a point

outside it are of ———in length:

(A) Half " (B)Equal
(C) Double (\;\w/ﬂ)) Triple
m Angle inggri\bed Qra’/semi circle is :

T /_\( /\\\b\f\ ) -
A B3

</\\\-£/:{
O NN &
(Cr\'\"\ s/\/\/ (D) 'g
N N . |
kFd if A and B are disjoint sets, then A U B is equal
to:
(A) A (B) B
__C)¢ (D) BUA
m Product of cuoe roots of unity Is:
(A) 0 (B)1

(C) -1 (D)3



x-1(x+2)
(A) A proper fraction (B) An improper fraction

(C) An identity (D) A constant term
EEd The discriminant of ax* + bx + € = 0 is;

(A) b? — 4acC (B) b? + 4ac

(C) - b* + 4ac (D) = b*—4ac
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PARTJfﬁM <x\ _

1  Write short answers \to any “SIX (6]

questions: VERN\N

Define radical equailon "

Solve by factorization : 2= 15

Find the dlscrimMant o)f the followmg equatnon
6x-8x+3 =0

B Wwithout solving, flnd the sum and the product of

the rdots of the equation: 7x*—5mx +9n=0
Wnte quaciratlc equation having following roots

O\ N 2 -6
vi B F | nb‘ wz |f
\Q\ N . _1 + \/——'—3—
2
Define direct variation.

Find a mean proportional between :20,.49

fa: b=c:dthen prove that
4a + 5b 4c+ 5d

4a-5b 4c-5d aIX
E Write short answers to any Sl




questions;
What are partial 1,
Resolve into pan,

X 2

(X +2)(x i J)
Wite all subsets of the st {Q, b)
X =¢,Y=2"thentind X, \Y

fA={a b)andB = “{C,d)thenf «
Find the set X and Y f st mc{\%\\f\

X xY ={(a, a), (b a), (c a), (Q;ni}\?\f

ﬂoefme class limit. <

\\ \‘\ /J >
Define arithmetic mean. K

Find the arithmetic mean by dire ﬁ' method:
12, 14, 17, 20, 24, 29 lsA\s

Write short answers @to \gny SIX (6)

questions: 12

- How many minutes are In M\ﬁght angles?

Find tan 6 when q.‘ds 6\/-\«— and 0 terminal side
of the angle 0i is m\founh quadrant.
If ¢ = 4cm, 10 \mrad then find r.

N Wi;gét %the trlangle with sides 8 cm, 15 cm
and17 cm is acute, obtuse or right angled?
leferéma\te between minor arc and major arc

of a circle and explain with figure.

Define tangent of a circle.
Define circumference of a circle.

What is meant by cyclic quadrilateral?
Define and draw the sector of a circle.

PART-I

o : Attempt THREE questions in all.




gut question No. 9 Is Compulsory,

] s g

solve the equation: 2x+3 = J7x +16

cind m, if the equation x? + 7x + 3y, _ :
tlsfy the relation 3a - 23 = 4, -
|fa s d(8bCd)”’OthenlDrovetht

a_\/a +cf
b Vb?+d?

a 5 8 9 5

Resolve into partial fractions: ; /\
X - 9
(x+1)(
= {2, 1, 2}, then make two bm 6|atI0ns
for y X y7? Also find their don]r ‘d>ran .
The following frequen u ion Shows-
weights of boys in kllora ute Median: 4{

Class Interval | 1-3 m‘immm
Frequercy [ 2131514 16121 71]

Verify that :

‘E} Drav'%%‘ )mmon tangents to two intersecting
circle i3 ¢cmand 4 cm.
Prov%(\at if. two chords of a circle  are

congruent then they will be equidistant from the

centre.

OR -

Prove that the opposite angles of any
quadrilateral. inscribed in a circle aré
supplementary.

Mathematics 10 Lahore Board
Science 2016




5:20 Min. |Objective Type

~Four possible answers A, B, C and D to each
~question are given. The chouce which: you
think is correct, fill that circle in front of that
question with Marker or Pen ink in the
answer-book. Cutting or filling two or more
circles will result in "zero mark in that
question. .o

,___________—_4;_
Solutlon set of equation 5x* — 125 = \&\r& —7
(A) {3} . (B) {10} /ﬁ\

(C) {-5} (D) {+5} )
The discriminant of equation ax"‘+b\x¥c/ O IS:

(A) b2 — 4ac (B) b? +
(C) — b? +4ac (D) - ﬂa\ca\

Two square roots of unlt}Qa/re IR

(A) 1, = © 1o
(C) 1, -o ) @
In a.propor‘tional b\ t'd b and ¢ are called:
(A) Extremes (B) Fourth proportional
(C) Means_ \‘:(D) Thlrd proportional
If.y? o 5, the \\;/

k\ \/\7 :
(A)/ygx NI

/\\ \> X

€) y2=x2 (D) y?=

(x+3)- =Xx2+6x+9 is a:

(A) Linear equatlon (B) Equatlon

(C) In-equation = (D) Identity

If set A-has:3 elements and set B has 4
elements then A x B will have elements :

(A) 3 (B) 4.

(C) 12 (D)7



[] The number of elements of the power S|

are . { -b}
A) 1 (B) 2
(C) . 3 (D) 4
The mode In the data 1,3,5,3,7,9 is:
(A) 1 (B) 3
&) 3 - (D)7

| m sin04+C08SP=-—--==-—-—
(A) sin® (B) cos®
(C) 1 (D) 2

EEl The symbol of a triangle is denoted by: [

(A) A ®<
() L (D) © m

m A line which has two points cox‘a, N with 3

circle are called: O
' ' | (B) Cosine of circle
Secant of circle

(D) IV
y@ngents can be drawn from a point
circle: |
(B) 2.
D)4

ow many common tangents can be drawn I0i

two disjoint circles:

(C) 4 (D) 1

athematics 10", Lahore Board
(Science) - 2016

Subijective Type

(A) 2 (B) 3
‘ Marks .




write short dNsSwers

to any  SIX (s
{_;uestions: 22)
“valuale . (1 - - @° ){
Solve Dy factorization: 4 — 32x = 17x2
-nc he  discriminant of given quadratic
N
squation

\J

N a class of 60 students

Students are girls

and remaining students ys. Compute the

ratio of “boys to girls” _
Find the cost of 8 kg o mangoes, if 5 kg of

mangoes cost Rs. 250.

Define proporti &
Write sho

ions:
% ction into proper fraction
X -1

X4-< X +1
Define rational fraction.
Whnat is meant by union of two sets?
fA=12357}and B = {3,5,8}, find A= B
Define a subset.

Nrite De Morgan's Laws.
Define mode.

IDefine standard deviation.
Nrite two properties of arithmetic mean.

ers to any SIX (6)
12



write short answers ¢, any
questions: S

Write relation between degreg -
Find (if 6 =180° r=4.9 cm. adign 12

Prove that:
tan x

Secx -

What is projection of a point?
 What is sector of a circle?
What is secant?

= Sin X

What is segment of a circle? o~ (

What is central angle? N—

Define triangle RN
L)

. \\,//

PART-| I
Note : Attempt THREE questlonS’m\alf\/
But question No. 9 |sﬁ?0}ngu ory.

ﬂﬂ] Solve the equation: -
Jx+5 + m N 1+ 50

m f o, B are th & roots of the equation x2- 3 + ¢

=0 form an Kequétlon whose roots are 2a +1
2B +1.

6.(a) Find fou(t%yoportlonal {0 .

\mx 1X+24, X3, 5x* _ 4y

.E]“ Res\\w@mto partlal fractions:

M\\f“ x2+7x+11
(x+2) (x+3)

fU={1,23,4,5678,9 10}, A=(1,35

7,9 ,B={2, 3,57 then prove that (ANB) =
Al u Bt
.E] Find standard deviation ‘S’ :
- 126731510185




Verity the identity:

~.m 0 + Cos t) 1

cos 0 | tan()
Circumscribe a circle about a trrangle f AEC
with sides: 2

congruent then they will b tant from the

centre.

OR _
Prove that the

MaSe'.
In a s € t greater than a semi circle is
less tha a right angle. - |
In a segment less than a semi-circ
greater than a rlght angle. -

AB =6cm, BC =3cm, CA = 4 cm
Prove x that if two chords @ !rcle dre
guid

S a right angle.
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